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Question Number : 1 Question Id : 7532294249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the odd one out of the following alternatives.
Options :

1. ®* Mouse

2. % Scanner

3. % Monitor

4. * Joystick

Question Number : 1 Question Id : 7532294249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafeiRad fasedl ® I faud fdmey @lol|
Options :

1. % gl

2. % TR

3. ¢ AR

4. % SifeHh

Question Number : 2 Question Id : 7532294250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given pair of words bears a relationship between them, choose the pair of words which has the similar relationship between them.

Hindu : Temple : : ?
Options :

1. # Sikh : Golden Temple
2. ®* Christian : Synagogue
3. # Jews : Church

4. % Muslim : Mosque

Question Number : 2 Question Id : 7532294250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Rrg : Miesd e
2. % S : ARTYATET
3.33?1@:5!5?

4. ¥ TIAHM : ARG

Question Number : 3 Question Id : 7532294251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

VIROLOGY : VIRUS : : CRANIOLOGY : ?
Options :

1. ¥ HEART

2. % SKULL

3. ¥ SHELL

4. % FOSSIL

Question Number : 3 Question Id : 7532294251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fauTy] fasiT : fawTy] - FHureIfaR : 2
Options :

1. % ga4

2. ¢ @ge!

3. % q

4, % S{ar=H

Question Number : 4 Question Id : 7532294252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the box that can be formed by folding the given sheet along the lines.
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Options :

Question Number : 4 Question Id : 7532294252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 5 Question Id : 7532294253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option in which the given figure is embedded.

i

Options :

|, % [
2. ® %

E?%E
3. ¢ i
4. %

Question Number : 5 Question Id : 7532294253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 6 Question Id : 7532294254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the CORRECT water-image of the given figure.

Options :

1L.¢ |

B

3




Question Number : 6 Question Id : 7532294254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& areh sty Y ST ofr o

Options :
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Question Number : 7 Question Id : 7532294255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in figures X,

Y and Z. Select the figure (from 1, 2, 3 and 4) that most closely resembles the unfolded form of figure Z.
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Options :
1. %1
2.2
3. %3
4. % 4

Question Number : 7 Question Id : 7532294255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T I T AISA F OHHEH R CH AAF A I @I OAR FE R G, X Y AR Z F
Hipfaal J Jeia G o am &1 39 Hpfa (1,2, 3 ¥R 4 F @) 77 709 F A AFa Z F [ar 73
g7 W & I FAT 94 2T gl

pe e —— Femm e ——

%‘5&%§;¢
> | 53 B 2
»¢ [2¢] 2o

2 3 1

Options :
1. %1
2.9 2
3.% 3
4, % 4

Question Number : 8 Question Id : 7532294256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sahil went 300 m towards the South to meet his friends at a restaurant. After meeting them, he turned left and went 100 m. Again, he turned left
and went 150 m to meet his sister. What is the distance of the restaurant from the starting point?

Options :

1. # 300 km
2. % 150 m
3. % 100 m
4. % 300 m

Question Number : 8 Question Id : 7532294256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 300 km

2. % 150 m

3. % 100m

4.4 300 m

Question Number : 9 Question Id : 7532294257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following diagram, the circle represents ‘rural people’, the triangle represents ‘corona patients’, the rectangle
represents “heart patients’, and the hexagon represents ‘patients admitted to the hospital’. How many rural people are
both Corona and heart patients and are admitted in the hospital?

13

Options :
1.¥ 22
2. % 57
3. % 93
4. % 122



Question Number : 9 Question Id : 7532294257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 22
2. % 57
3.% 03
4. % 122

Question Number : 10 Question Id : 7532294258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chocolate costs X 17 each. A biscuits costs X 10 each. Amit spends X 280 on buying them. What is the number of chocolates Amit purchased?
Options :

1. %5



2.¥10
3. % 12
4. % 15

Question Number : 10 Question Id : 7532294258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %5

2.910

3.% 12

4, % 15

Question Number : 11 Question Id : 7532294259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Use the following information to solve the question below.

If P + Q means P is the father of Q.
P - Q means P is the mother of Q

P x Q means P is the sister of Q.
P/ Q means P is the brother of Q.
P ! Q means P is the wife of Q.

In what way A is related to C in the below mentioned equation

A-B!C

Options :

1. * Daughter in law
2. % Son in Law

3. % Mother in Law

4. % Father in law



Question Number : 11 Question Id : 7532294259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A-B!C
Options :
1. % dg
2. % qIHI
3. 4™
4. % Y

Question Number : 12 Question Id : 7532294260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following sentences are arranged in specific pattern. Choose the correct Missing alternative sentence according to the pattern.

1. Neolithic Period 2. Iron Period 3. Helleminstic Period 4. Ottoman Period 5. Chaleolithic Period
Options :

1. % 1,5,3,2,4

2. % 51,423

3.9 1,5234

4. % 51,243



Question Number : 12 Question Id : 7532294260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1,5,3,2,4

2.%5,1,4,2,3

3.9 1,5,2,3,4

4.%51,2,4,3

Question Number : 13 Question Id : 7532294261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The mentioned two words have a certain relationship to each other, Select the pair which has the same relationship with given letter clusters.

Helium, Neon, Argon, Krypton ,
Options :

1. * Hydrogen

2. % Radon

3. % Sodium

4. * Magnesium

Question Number : 13 Question Id : 7532294261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed U Uy H T gaik § Aafid Xsg g ol T €, o1 31eR IHg §RT SRl ol 7T § | 39 i &1 99 &Y, il 3199 |
I &Y BT FAH &7 9 UeiRid Hal g S 5a a{mwﬁmﬁmw%

Options :

1. % gI3groH




2. ¥ I8H
3. % gifsaw
4. % TINREH

Question Number : 14 Question Id : 7532294262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best describes the relationship between the following.

Fish, Sea, Pot
Options :

.00

()
L\

LU0



Question Number : 14 Question Id : 7532294262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

2.9
-
\ ) v, |
v Mo
4, %

Question Number : 15 Question Id : 7532294263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The two expressions on either side of the sign (=) will have the same value if two terms on either side or on the same side are interchanged. Find
the correct terms to be interchanged.

6x2-16-4=5+7x2-21+3
Options :
1.¥6,7
2.% 4.7
3.% 2,5
4. % 6,5

Question Number : 15 Question Id : 7532294263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁa@gmwﬁw%a’mﬁﬁmﬁw%mﬁ%@)%aﬁ@v%a’m@wmw@m Y § g3 & forg
Teg T |

6x2-16-4=5+7%x2-21+3
Options :
1.¥6,7
2.% 4,7
3.% 2,5
4. % 6,5

Question Number : 16 Question Id : 7532294264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the given interchange in signs and number would make the given equation CORRECT?

79+2-64+8x3-5=226
Options :

1. % xand +, 2 and 5

2. % +and —, 64 and 5



3. % +and +, 79 and 8
4. +and x,3 and 2

Question Number : 16 Question Id : 7532294264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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79+2-64+8x3-5=226

Options :

1. % x 3R+ 23R 5
2. % + 3R, 64 35
3. % + 3R+, 79 3R 8
4. + 3R x, 3 3R 2

Question Number : 17 Question Id : 7532294265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct combination of mathematical signs to sequentially replace ‘A’ and balance the following equation.

90A6AI12A45A4
Options :

1. ® x, =—- +

2. % = X, =-
3.% X, 5 =~

4.9 + x = x

9

Question Number : 17 Question Id : 7532294265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® x, =—- +
2. % = X, =-
3.% X, 5, =—

4.9 + x = x

Question Number : 18 Question Id : 7532294266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an exam, a student got thrice as many answers correct as he got wrong. If he attempted 56 questions in all, how many did he solve correctly?
Options :

1. % 14

2. % 56

3.9 42

4. % 28

Question Number : 18 Question Id : 7532294266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 14

2. % 56

3.¥ 42

4. % 28

Question Number : 19 Question Id : 7532294267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four number sets have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :



1. % (100, 450, 800)
2. % (120, 540, 960)
3. % (200, 900, 1600)
4. (250, 1150, 2000)

Question Number : 19 Question Id : 7532294267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AR Je MU B, R’ A 7 fxht 7 vt dRe A 1 S € IR T ST 81 97 31eT @ I
Options :

1. % (100, 450, 800)

2. % (120, 540, 960)

3. % (200, 900, 1600)

4. % (250, 1150, 2000)

Question Number : 20 Question Id : 7532294268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If12+7=96,25+ 6 =175 then what would be 41 +5=7?
Options :

1. ¥ 246

2. % 345

3. % 78

4. % 980

Question Number : 20 Question Id : 7532294268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG 12+7=96,25+6=1758 Al 41 + 5 = FATGM?
Options :

1. ¥ 246

2. % 345



3. % 78

4. % 980
General Awareness
Group Number : 2
Group Id : 753229236
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness
Section Id : 753229236
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229283
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532294269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Where is ‘Martand Sun Temple’ located?
Options :

1. % Anantnag, Jammu and Kashmir

2. % Konark, Odisha

3. # Modhera, Gujarat

4. #% Domlur, Bangalore

Question Number : 21 Question Id : 7532294269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTeis g wiey el FRUd 82

Options :

1. ¢ 3N, SH d HRAR

2. % PIUMD, =M

3. % e, ORI

4. % SR, AR

Question Number : 22 Question Id : 7532294270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At Sravanabelgola in Karnataka, the famous Mahamastakabhisheka festival is held every years to honour Lord Bahubali
(Gommatesvara).

Options :
1. %5
2. % 7
3.%9
4. 12

Question Number : 22 Question Id : 7532294270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %5
2. % 7
3.%9
4.9 12

Question Number : 23 Question Id : 7532294271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The two-day Hemis festival is celebrated annually to mark:
Options :

1. ® the birth anniversary of Buddha.

2. % the birth anniversary of Mahavira.

3. % the birth anniversary of Guru Padmasambhava.

4. ® the death anniversary of Buddha.

Question Number : 23 Question Id : 7532294271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& feadia 3y meia, a1t = ¥ 3 fafed o & fore w=man sirar 82
Options :

1. % §g &I oH IS

2. % TGMAR &1 oFH TG

3. ¥ T[S URRIHT P o H aWI6

4, % §g DI quaidiy

Question Number : 24 Question Id : 7532294272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of the Tughlaq dynasty during Delhi Sultanate?
Options :

1. ¥ Ghiyasuddin Tughlaq



2. % Muhammad Tughlaq
3. # Firuz Shah Tughlaq
4. ¥ Mahmud Nasiruddin Tughlaq

Question Number : 24 Question Id : 7532294272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEeeht oo & QR T a=1 BT TRITIEH DI UT?
Options :

1. ¢ REArgEH qield

2. % GG D

3. % fOsIel Q18 i

4. % GG TG M TIciD

Question Number : 25 Question Id : 7532294273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘Sambhar’ lake is situated in which state?
Options :

1. ¥ Rajasthan

2. % Uttarakhand

3. ¥ Maharashtra

4. ® Himachal Pradesh

Question Number : 25 Question Id : 7532294273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
iR Sl g osa o Ryd 82
Options :

1. & TSI

2. % JTRIES



3. %

HERTY
4. % fgrmEQ yew

Question Number : 26 Question Id : 7532294274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state was put under the President’s Rule on 12 November 2019?
Options :

1. % Kerala

2. % Madhya Pradesh

3. ¥ Mabharashtra

4. % Jammu and Kashmir

Question Number : 26 Question Id : 7532294274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 FdER 2019 BT B FT IS AFUIT AT B e 412
Options :

1. % B

2. % UL YSR

3. ¥ HeRTY

4. % A 3R HIAR

Question Number : 27 Question Id : 7532294275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the west flowing river in India?
Options :

1. % Koyna

2. ¥ Tapi

3. % Kaveri



4. % Krishna

Question Number : 27 Question Id : 7532294275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % DIl

2.« i

3. % PIadl

4. % puf

Question Number : 28 Question Id : 7532294276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state government launched ‘Mo Sarkar’ programme to provide service with dignity in daily governance on 150th
Mahatma Gandhi in 2019?

Options :

1. #* Gujarat

2. % Qdisha

3. ¥ West Bengal

4. % Maharashtra

birth anniversary of the

Question Number : 28 Question Id : 7532294276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 7 g 0 WRHR 2 Hera i B 1507 orieht iR SR 2 H 1R Ja1 UeH $ & R W WeR' SRishd SRy
Options :

1. % ToRId

2. JfifsEm

3. % gigw &




4. % TIERTY

Question Number : 29 Question Id : 7532294277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The establishment and constitution of the Supreme Court is mentioned in the article of the Indian Constitution.
Options :

1. % Article 228

2. % Article 124

3. % Article 127

4. % Article 224

Question Number : 29 Question Id : 7532294277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAT AU & ofede ¥ gafe e 1 RITGHT 3R JfJe o1 S 8|
Options :

1. % 3T®q 228

2. ¥ TG 124

3. % 3G 127

4. % 3G 224

Question Number : 30 Question Id : 7532294278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the editor of Samwad Kaumudi?
Options :

1. ¥ Mahatma Gandhi

2. % Bankim Chandra Chatterjee

3. # Ishwar Chandra Vidhyasagar

4. ¥ Raja Ram Mohan Roy



Question Number : 30 Question Id : 7532294278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IdTe B P YUIGH DI A2

Options :

1. % HgTeHT et

2. % §fbH Tig TSt

3. % TR A% fGgTR

4. ST A HIGT I

Question Number : 31 Question Id : 7532294279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The birth anniversary of Guru Nanak was celebrated as Guru Parva or Prakashotsav in 2019.
Options :

1. % 525th

2. % 500

3. % 575t

4. ¢ 5501

Question Number : 31 Question Id : 7532294279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 B T[S D DI S DI e Ud AT TSRS & &9 H FA-71 T
Options :
1% 52590
2. % 5009
3. % 57590
4. % 5509



Question Number : 32 Question Id : 7532294280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Indian monuments and their builders/establishers, which one of the following pairs is INCORRECT?
Options :

1. % Agra Fort — Akbar

2. % Jama Masjid — Shahjahan

3. % Buland Darwaza — Babur

4. ¥ Bada Imambara — Asaf-ud-daula

Question Number : 32 Question Id : 7532294280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR RS R I FATUES)RITH R4 ardl & AR, FofaRad § 9 $H-91 3 3 g2
Options :

1. % 3RT fobell - 3fhar

2. % S ARG QMESTgl

3. ¢ gdiq G- dTeR

4. % S SHHSTS] - 3 HB-Ie-arall

Question Number : 33 Question Id : 7532294281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following emperors evolved a policy of Dharma Vijaya, ‘Conquest by Piety’?
Options :

1. ¥ Ashoka

2. # Chandragupta Maurya

3. # Prithvi Raj Chauhan

4. % Bindusara

Question Number : 33 Question Id : 7532294281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁﬁmw%uﬁﬁ\—ﬂ “H-FdT gRT fasrr (Conquest by Piety)ﬁ:ﬂﬁﬁﬁﬁlﬁﬁ‘lﬁ?
Options :

1. ¢ 3D

2. % eI AR

3. % QRIS AgH

4. % fagaR

Question Number : 34 Question Id : 7532294282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following animals is from the Canidae family?
Options :

1. ¥ Fox

2. % Monkey

3. ® Crocodile

4. % Lion

Question Number : 34 Question Id : 7532294282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § HH-I1 TR HS (Canidae) TRAR F 82
Options :

1. ¢ Al

2. % R

3. ¥ HIRHY

4. % TR

Question Number : 35 Question Id : 7532294283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following bacteria lives in leguminous plants?
Options :

1. # Pseudomonas aeruginosa

2. # Candida auris

3. % Rhizobium

4, % Acinetobacter baumannii

Question Number : 35 Question Id : 7532294283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g 7 § B-97 SiaTy] tefleR drel & g 82

Options :

1. ® P@Th:lm TS ST (Pseudomonas aeruginosa)
2. % Hf33 \}m(CaHdida auris)
3. ¢ ASSNSTH (Rhizobium)

o

4. ® uw%é@qce ST3H (Acinetobacter baumannii)

Question Number : 36 Question Id : 7532294284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dances is performed at weddings and other social gatherings in Kashmir?
Options :

1. % Bhand Pather

2. % Dumbhal

3. % Bachha Nagma

4. ® Kud dance

Question Number : 36 Question Id : 7532294284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifed # Q oF I 7o, FHR # 81 areft 2nfet 3iR 3 I TARIS! # fova Sirar 82



Options :

1. % Yig URR
2. % GHgd

3.9 dd IHT
4. % g

Question Number : 37 Question Id : 7532294285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is considered as the torch-bearer of the Kuchipudi form of dance?
Options :

1. # Mallika Sarabhai

2. ®# Rukmini Devi Arundale

3. # Chitra Visweswaran

4. ¥ Yamini Krishnamurthy

Question Number : 37 Question Id : 7532294285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T 9 ford, FTaqSt o ek BT TYUERID AT Il 82
Options :

1. % Hfcdh] GRTHTS

2. % SfaHull Gt ereed

3. % e fagsRA

4.  IEH PO

Question Number : 38 Question Id : 7532294286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was the Konark dance festival started?
Options :



1. * 1988
2. ¥ 1986
3. % 1985
4. % 1984

Question Number : 38 Question Id : 7532294286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DM T HeITd [ T Y& g2
Options :

1. % 1988

2.9 1986

3. % 1985

4. % 1984

Question Number : 39 Question Id : 7532294287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following festivals is celebrated in Nagaland?
Options :

1. # Raja festival

2. % Hornbill festival

3. # Nuakhai festival

4. ¥ Magha Saptami festival

Question Number : 39 Question Id : 7532294287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RTIelS B fAafoRad o 9 &1 91 AR T™1 oirdl 82

Options :

1. % IS HeIgd



2. ¢ giHiad Agldd
3. % J3ETS Held
4. % O ! Held

Question Number : 40 Question Id : 7532294288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following plants has ‘hidden reproductive organs‘?
Options :

1. % Deodar

2. ® Cycas

3. ¥ Marsilea

4. # Ipomoea

Question Number : 40 Question Id : 7532294288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed § @ fbg urey # <30 gu uomH 3 g1 82
Options :

1. ® qdER

2. % qJhy

3. ¢ Tifferan

4, % SIS

Arithmetic Ability

Group Number : 3
Group Id : 753229237
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 753229237
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229284
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532294289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following information and answer the question.

A company has 1200 employees working in its five departments — HR, Marketing, I'T, Production and Accounts. 45% of the total employees are
males and the rest are females. The ratio of males to females in HR department is 1 : 3 and 1/9 th of the number of male employees work in HR
department. 20% of the females work in IT department and the ratio of males to females in IT department is 14 : 11. 30% of females work in
Marketing department. 25% of male employees work in Production department and the number of female employees in Production department is
45 less than the number of male employees in that department. 54 males work in Accounts department and the remaining in Marketing
department. The number of females in Accounts department is 60.

The ratio of the number of female employees in Marketing department to the number of male employees in Production department is:
Options :
l.%4:3



2. % 33:28
3.4 22:15
4. % 44 45

Question Number : 41 Question Id : 7532294289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR SHBRI BT 3T B R UH BT IR S|

TH HUATH 1200 FHART § Sl 3P Ui AU - AT WQ1EH (HR), TIU0M, a1 Uit (1), Idre 3R o gy # erlkd g1 oa
HHARA T 45% T3V g AR AN AR & | AFG 1 (HR) TaumT & gt 3R Afgarnstt &1 1 ;38 3R TN HHATR! B G
T 1/9 YT AT GA1eH fAUTT (HR) T S1Rd 81 20% Afeard Jam1 Wit (1) faumt & wrlkd § 3R gae ueifiet (1) faum & geul
3R Afgarsii &7 U 14 : 11 81 30% AfGET faguH fqumT & 1A 81 25% J3% HHAR! IdTe AU I HRRA & 3R SdTG [aHmT &
AR HHATRG! B G- I fAUNT H HRd TN HHATRG! B G ¥ 45 FH & | 54 T a1 [T § 3R Ay faque faumt & srRa

& | e faumT & afgersii @1 9 60 B

fuue faum & afgar HHaial & WReT 3R IdTe AU & TN HHATRG &1 TS BT ST 31 G2
Options :

1. % 4:3

2. % 33:28

3.922:15

4. % 44 - 45

Question Number : 42 Question Id : 7532294290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following information and answer the question.

A company has 1200 employees working in its five departments — HR, Marketing, I'T, Production and Accounts. 45% of the total employees are
males and the rest are females. The ratio of males to females in HR department is 1 : 3 and 1/9th of the number of male employees work in HR
department. 20% of the females work in IT department and the ratio of males to females in IT department is 14 : 11. 30% of females work in
Marketing department. 25% of male employees work in Production department and the number of female employees in Production department is
45 less than the number of male employees in that department. 54 males work in Accounts department and the remaining in Marketing
department. The number of females in Accounts department is 60.



The number of male employees in Marketing department is what percent of the total number of female employees in HR, Production and
Accounts departments? (correct to one decimal place)

Options :

1. * 34.2%
2. % 35.8%
3. % 36.4%
4. ¥ 37.3%

Question Number : 42 Question Id : 7532294290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol SHBRI BT 3T B R UH BT IR S|

TP SO H 1200 HHARY & S 39 Gid fAUTT - AFa TG1EE (HR), fA90H, a1 9t (1), Sdre SR ot faurT & SriRd |
HHATRTT H F 45% T3V g 3R AT AZATE & | AT TA1eH (HR) FumT & goe 3R Afgarsit &1 138 3R 3N HHATRGY Bt T
&1 1/9 HIT TG I (HR) AU & SRR 5| 20%WWW(IT)ﬁWﬁwg@?WW(IT)ﬁWﬁW
3R AfGATaT &1 SIUT 14 : 11 §1 30% Afead faUuH faHTT # SRR & | 25% 3N HHART SATG [IHFT H SRR g 3R Sdre- Ay &
Afge HHEl ! T 34T faunT § SHrikd g3y SHenial &) T ¥ 45 HH g1 54 T3Y AT AU H 3R 29 fagur faum § srika

o | T faumT o Afgermell o I 60 5 |

fIuum fuTT & gou HHATal &1 T AMd H1eH (HR), IATEA 3R o faHmT # SriRd Afedl SHama) & o ST &1 fahd
Ufa=Id 87 (GXHed & §1¢ Th RIF d Jal)

Options :

1. % 34.29%

2. % 3538%

3. % 36.4%

4. ¥ 37.3%

Question Number : 43 Question Id : 7532294291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The perimeter of a rhombus is 40 m while its one diagonal is 16 m. What is the other diagonal?
Options :



1. % 8m
2. % 24m
3. % 16m
4.4 12m

Question Number : 43 Question Id : 7532294291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore TEAGHS (thombus) BT ARHTT 40 m B, TEfh SHD TP [AH 01 B AT 16 m & | GORT [aH 1 1 B |
Options :

1. % 8m

2. % 24m

3.% 16 m

4.¥ 12m

Question Number : 44 Question Id : 7532294292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ages of players in a street cricket team were recorded in the table below.

Age 7-8|8-9|9-10 | 10-11 | I1-12
No.of Players |2 |4 |7 6 3

What is mode of their ages?
Options :

1. # 9.5 years

2. % 9.25 years

3. % 9.75 years

4. ¥ 9.8 years

Question Number : 44 Question Id : 7532294292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ﬁmﬁﬁaaﬁwﬁﬁ@ﬁ%%#%&ﬁﬁﬁmaﬁﬁﬂé%i
3T (I 7-8|8-9 | 9-10 | 10-11 [ 11-12

=

Eensar Hra=r|2 |4 |7 |6 |3

3eThT TG HT FgeIsh (mode) T FI
Options :

1. % 959

2. % 92579

3.9 97594
4. % 98 Y

Question Number : 45 Question Id : 7532294293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given pie chart represents the monthly expenditure of ARUN. Arun's monthly income is Z 40,000.

MONTHLY EXPENDITURE

Miscellaneous
32%

Education
10% |

What is the difference of amounts that he expends on Food and Miscellaneous (in Z)?
Options :

1. ¥ 3200

2. % 3,000

3. % 2,400

4. % 2000

Question Number : 45 Question Id : 7532294293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fear I/ O = eUT & AfRS @Y+ ReRT Far g1 3T B A 3 3 40,000 B

MONTHLY EXPENDITURE

Miscellaneous
32%

Education

10%

38 AT @ed AR e (Miscellaneous) X @ $r =715 TR & & 33X (2 #) A9 F{
Options :

1. % 3,200

2. % 3,000

3. ¥ 2,400

4. % 2,000

Question Number : 46 Question Id : 7532294294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A toy manufacturer company carried out an experiment to measure the diameter of tennis ball produced. The diameter
of each ball was measured to the nearest mm. The results are shown in the following histogram.

number of balls

18.30 021 21-12 2223 23-24 24-35

Diameter (in mm)

How many tennis balls were measured altogether in the experiment?
Options :
1. % 79
2.¥80
3. % 81
4. % 82

Question Number : 46 Question Id : 7532294294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fis T s el FI4T, J94r a5 AT &7 & g FT J9S F T TF T49= FH1a g1 TodE
g 1 T Feean BT # AT FJar g1 IonA, BT v smmay § fTmiw v g a7
TTT FY AT T2 T F I/ &

e
20
20
17
“ 15 |
3 15 14
B
U
E
S 10
& 8
&
5
[+ ]
19-30 20-21 21-22 2323 23-24 14-25

Deameter {in mm)

TR # For haa e afer @ A e

Options :
1. % 79
2. ¥ 80
3. % 81
4. % 82

Question Number : 47 Question Id : 7532294295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A square pyramid of height 30 cm is placed over a cuboidal pedestal. The bases of the pedestal and the pyramid are same and having the length
of the side equal to 10 cm. The height of the pedestal is 2 m. The Volume of the resultant solidis cm?.

Options :

1. ¥ 21000



2. % 1200
3. % 2100
4. % 12000

Question Number : 47 Question Id : 7532294295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 cm T8 ITe FHR RIHS (square pyramid), foft T THR et (pedestal) & SR QT g | bl (pedestal) 3R fRIfirs & SmeR
W%ﬁ?%@ﬁm 10 cm%W%l Eﬁ?;:f(pedestal)ﬁt‘n;_tl'lg2 m%l gfRumHt 319 BT 3raaH cm? BRI

Options :

1. ¥ 21000

2. % 1200

3. % 2100

4. % 12000

Question Number : 48 Question Id : 7532294296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A state government presented its budget of ¥ 2500 billion in financial year 2020-2021. The bar graph depicts the

percentage expenditure in different sectors.

Education
45 -
. A0
2 35
°
5 30
25
E 20 18, 1E
o
H
E 10
5 FE=—=S
o , .
Education Health Agriculture Development on
Infrastructure
Different sector

Find the average of expenditure in agriculture and development on infrastructure.
Options :

1. % 800 billion

2. % 600 billion

3. # 750 billion

4. % 700 billion

Question Number : 48 Question Id : 7532294296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=T R o g 3§ 2020-2021 # 9T 7 2,500 ™foms &1 9=t 9or &Rar &r 7r 9 9%
afees &=t &7 ufaeE o garar gl

e
e @
40 4
L
E 30 4 =g
25 4
E 20 + 18 1
E 1 . I |
lﬂ | .
g 4
i : . .
Eill ] e i aferarer er
R oy fa@re

HIEEAT R F¥ #RX [Fora J =97 &7 3T A9 #:
Options :

1. % 800 fafera

2. % 600 faferga

3. % 750 faferoA

4. ¢ 700 fafergq

Question Number : 49 Question Id : 7532294297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What least digit should come in place of * in the 8 digit number 2549 * 325, for which the number is divisible by 11?
Options :

1. %0

2. % ]

3. % 2

4.9 3



Question Number : 49 Question Id : 7532294297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 3T BT UWAT 2549 * 325 T * B VI TR T S Tt o BT WA g1 AT, o T8 11 F U B b2
Options :

1.* 0

2. %1

3.% 2

4. 3

Question Number : 50 Question Id : 7532294298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 40% of a number is 800, then the number is:
Options :

1. * 1000

2. % 2400

3. % 3200

4.+ 2000

Question Number : 50 Question Id : 7532294298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe forf} T BT 40%, 800 &, T I8 T grfl|
Options :

1. * 1000

2. % 2400

3. % 3200

4.+ 2000



Question Number : 51 Question Id : 7532294299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The mean of the first 5 prime numbers is:
Options :
1. %55
2.9 56
3. % 58
4. % 6.2

Question Number : 51 Question Id : 7532294299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3D 5 TS TS BT Wi BT g |
Options :

l.® 55

2.9 56

3. % 58

4. % 6.2

Question Number : 52 Question Id : 7532294300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sana can do a piece of work in 30 days. Tanu is 25% more efficient than Sana. The number of days taken by Tanu to do the same piece of work
1s:

Options :

1. ¥ 24 days
2. % 20 days
3. % 18 days
4. % 14 days

Question Number : 52 Question Id : 7532294300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T frft 1 1 30 o1 T % Gahcll B 1 I, T 25% S HRIGRE € | I BIH B B & g ] B fhaA A1 &1 Jog anm
Options :

1. ¢ 24 fai &1

2. % 20 fal &1

3. % 18 fal &1

4. % 14T i@

Question Number : 53 Question Id : 7532294301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Convert the following ratio 1 : 9 into decimal percent.
Options :

1.¥ 11.11%

2. % 12.1%

3. % 10.9%

4. % 9.55%

Question Number : 53 Question Id : 7532294301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 1 : 9 P g-HA U=rd & uRafad s
Options :

1. ¥ 11.11%

2. % 12.1%

3. % 10.9%

4. % 9.55%

Question Number : 54 Question Id : 7532294302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The average age of a family of 5 members is 30 years. If the age of the youngest member be 15 years then what was the average age of the family
at the time of the birth of the youngest member?

Options :
1. ¥ 18.75
2. %20

3. % 16
4. % 25

Question Number : 54 Question Id : 7532294302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5@%@%@%%306&%&%{4&@ BIC Yo P 3T 15 TY g, A oY BIc Y & O & 7T URAR BT 31T 31
T o

Options :

1. ¢ 18.75

2. % 20

3. % 16

4. % 25

Question Number : 55 Question Id : 7532294303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What profit percent is made by selling an article at a certain price if by selling at three-fifth of that price there may be a loss of 10%?
Options :

1. ¥ 50%

2. % 30%

3. % 25%

4. % 20%

Question Number : 55 Question Id : 7532294303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foh il o 1 Uoh (A Hed R So WR b= Uic=rd o ot it g1, afe 98 e & 3/5 Hed WR a9 WR 10% b1 811 g1 Gobdl U2
Options :
1. ¢ 50%
2. % 30%
3. % 259
4. % 20%

Question Number : 56 Question Id : 7532294304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the third proportional to 16 and 64.
Options :

1. %= 32

2.9 256

3.% 4

4. % 128

Question Number : 56 Question Id : 7532294304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
16 3R 64 BT JRRT ST &1 BINI?
Options :

1. ® 32

2.9 256

3.% 4

4. = 128

Question Number : 57 Question Id : 7532294305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two numbers are respectively 40% and 60% more than a third number. the ratio of the two numbers is:
Options :



1.9 7:
2. % 6
3. % 8:
4. % 8

LN 3 W o0

Question Number : 57 Question Id : 7532294305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 TREATY Ueh L) RS & HHDT: 40% 3R 60% e & 1 37 S Gt b1 Sard a1 g1
Options :

1.¥ 7:
2. % 6:
3. % 8:
4, % 8.

LN 3 W

Question Number : 58 Question Id : 7532294306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person crosses a 900 m long street in 5 minutes. What is his speed in km per hour?
Options :

1.4 10.8

2. % 8.8

3. % 126

4. % 9.8

Question Number : 58 Question Id : 7532294306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT 900 m AT TeA BT 5 min H UR HR AdT1 § | SHD! A km/hr T T 52
Options :

1.4 10.8

2. % 88



3. % 12,6
4. % 98

Question Number : 59 Question Id : 7532294307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In covering a distance of 60 km, Amar takes 2 hours more than Sagar. If Amar doubles his speed, then he would take 1 hour less than Sagar.
Amar's speed is:

Options :

1. % 10 km/hr
2. % 12 km/hr
3. % 8 km/hr
4. % 9 km/hr

Question Number : 59 Question Id : 7532294307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60 km B G O B H, TR BT AFR DI a1 H 2 hr I HTYSH THI T ¢ | fe 3R 37O 7T & T HR T ¢ ol S8 IR ¥ 1 hr HH
JII @M AR B B

Options :

1. ¥ 10 km/hr
2. % 12 km/hr
3. ® 8 km/hr
4. % 9 km/hr

Question Number : 60 Question Id : 7532294308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money becomes three times in 4 years at certain rate of interest. Find the time in which the same amount will be nine times at the same
interest rate.

Options :
1. ¥ 16 yrs



2. % 11 yrs
3. % 13 yrs
4. % 15 yrs

Question Number : 60 Question Id : 7532294308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT S &R IR U R 4 a6 F S T 81 ST § | S 0T &1 T Hx Fored ST 1S &= TR dat AT A A1 g1 STt

Options :
1.v 1699
2. % 1199
3.% 1394
4.% 1599
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Section Id : 753229238
Section Number : 1
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Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 753229285
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532294309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

The little girl’s grew louder when she could not find her mother in the house.
Options :

1. * whales

2. % vales

3. * veils

4. ¥ wails

Question Number : 61 Question Id : 7532294309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

The little girl’s grew louder when she could not find her mother in the house.
Options :

1. * whales

2. % vales

3. * veils

4. ¥ wails



Question Number : 62 Question Id : 7532294310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is the homonym with the meanings 'Just' and ‘Light complexioned’
Options :

1. # Fare

2. ¥ Fair

3. * Fail

4. % fell

Question Number : 62 Question Id : 7532294310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is the homonym with the meanings 'Just' and ‘Light complexioned’
Options :

1. * Fare

2. ¥ Fair

3. # Fail

4. = fell

Question Number : 63 Question Id : 7532294311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

Can the students returning early to the campus get preferred rooms in the hostel?
Options :

1. # there

2. ¥ their

3. # they’re

4. % they are



Question Number : 63 Question Id : 7532294311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

Can the students returning early to the campus get preferred rooms in the hostel?
Options :

1. % there

2. ¥ their

3. # they’re

4. # they are

Question Number : 64 Question Id : 7532294312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the idiom in the given sentence with the correct key word from the options given below. The meaning of the idiom is given in
parenthesis for guidance.

I wasn’t expecting her to sound the horn so loud; I nearly jumped (gave a big jump).
Options :

1. # out of the room

2. # on the table

3. ¥ out of my skin

4. % on the floor

Question Number : 64 Question Id : 7532294312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the idiom in the given sentence with the correct key word from the options given below. The meaning of the idiom is given in
parenthesis for guidance.

I wasn’t expecting her to sound the horn so loud; I nearly jumped (gave a big jump).
Options :

1. # out of the room



2. * on the table
3. % out of my skin
4. % on the floor

Question Number : 65 Question Id : 7532294313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT pair of homonyms.
Options :

1. # Old and Gold

2. # Rattle and Battle

3. % Highway and Subway

4. ¥ Cast and Caste

Question Number : 65 Question Id : 7532294313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT pair of homonyms.
Options :

1. # Old and Gold

2. # Rattle and Battle

3. % Highway and Subway

4. % Cast and Caste

Question Number : 66 Question Id : 7532294314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

In dire straits
Options :
1. #* An old musical band



2. # A huge body of water between Singapore and Malaysia
3. % To be in a very bad or difficult situation

4. # To sail in rough waters during a storm

Question Number : 66 Question Id : 7532294314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

In dire straits

Options :

1. * An old musical band

2. % A huge body of water between Singapore and Malaysia
3. ¥ To be in a very bad or difficult situation

4. % To sail in rough waters during a storm

Question Number : 67 Question Id : 7532294315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT homonym pair to be filled in the blanks in the following sentence.

My friend managed the crime of the national newspaper, making it easy for him to investigate the father who his child to
death.

Options :

1. # bite; bait

2. # byte; bite
3. # abate; about
4. ¥ beat; beat

Question Number : 67 Question Id : 7532294315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT homonym pair to be filled in the blanks in the following sentence.



My friend managed the crime of the national newspaper, making it easy for him to investigate the father who his child to
death.

Options :

1. ® bite; bait

2. # byte; bite
3. # abate; about
4. ¥ beat; beat

Question Number : 68 Question Id : 7532294316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct antonym for the word.

Cherish
Options :

1. # Esteem
2. % Admire
3. ¥ Detest
4. % Adore

Question Number : 68 Question Id : 7532294316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct antonym for the word.

Cherish
Options :

1. # Esteem
2. % Admire
3. ¥ Detest
4. % Adore



Question Number : 69 Question Id : 7532294317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

Jot down
Options :

1. % Bring down
2. % Write down
3. % Go down

4. % Come down

Question Number : 69 Question Id : 7532294317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

Jot down
Options :

1. # Bring down
2. ¥ Write down
3. % Go down

4. % Come down

Question Number : 70 Question Id : 7532294318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Apple of discord
Options :
1. ¥ Reason for dispute

2. % Reason for settlement



3. % Reason for compensation

4. # Reason for adjustment

Question Number : 70 Question Id : 7532294318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Apple of discord

Options :

1. ¥ Reason for dispute

2. % Reason for settlement

3. # Reason for compensation

4. % Reason for adjustment

Question Number : 71 Question Id : 7532294319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is opposite in meaning to the word given below.

Failure
Options :

1. ¥ Success
2. % Break
3. % Tear

4. #® Join

Question Number : 71 Question Id : 7532294319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is opposite in meaning to the word given below.

Failure



Options :

1. ¥ Success
2. # Break
3. % Tear

4. * Join

Question Number : 72 Question Id : 7532294320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Blasphemy
Options :

1. # Blessing
2. % Sacred
3. % Profanity

4. % Reverence

Question Number : 72 Question Id : 7532294320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Blasphemy
Options :

1. # Blessing
2. % Sacred
3. ¥ Profanity

4, % Reverence

Question Number : 73 Question Id : 7532294321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Read the following sentence and identify the part that has an error.

There is no doubt that / the chess is a game / which requires / great skill and patience.
Options :

1. # There is no doubt that

2. ¥ the chess is a game

3. % which requires

4. # great skill and patience

Question Number : 73 Question Id : 7532294321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

There is no doubt that / the chess is a game / which requires / great skill and patience.
Options :

1. # There is no doubt that

2. ¥ the chess is a game

3. % which requires

4. % great skill and patience

Question Number : 74 Question Id : 7532294322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence.

The annual examination is at hand now.
Options :

1. # far away

2. # well prepared

3. % close by

4. % casy to attempt



Question Number : 74 Question Id : 7532294322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the underlined idiom in the given sentence.

The annual examination is at hand now.
Options :

1. # far away

2. % well prepared

3. % close by

4. % easy to attempt

Question Number : 75 Question Id : 7532294323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The teacher accompany us because he has broken his leg.
Options :

1. * must

2. * should

3. % can't

4. % isn't

Question Number : 75 Question Id : 7532294323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The teacher accompany us because he has broken his leg.
Options :

1. * must

2. # should



3. % can't

4. % isn't

Sub-Section Number : 2
Sub-Section Id : 753229286
Question Shuffling Allowed : Yes

Question Id : 7532294324 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the question given below.

Memories are a part and parcel of life. People remember their near and dear ones after their death. Some people remember them by writing their
memories. This is known as memoirs. It is a narrative which is written from the perspective of the author. It is related to any important event or
incident of life of the person who is remembered. The primary purpose of writing memoirs is to keep alive certain memories of the deceased.
Memoirs have become famous as a genre in English literature in recent times. It has been derived from a French word ‘memoire’ and from the
Latin word ‘memoria’ meaning memory or reminiscence. It has evolved as a sub class of autobiography writing. Some of the common memoirs
in English literature are - The Liars’ Club by Mary Karr, The Year of Magical Thinking by Joan Didion and Speak, Memory by Vladimir
Nabokov and others. It is different from biography and autobiography. A memoir does not encompass all the life events of a person. They are
strictly related to an incident or an event. Another thing, a memoir is written after the death of an individual. A biography can be written by
anybody who is related to the person while anautobiography is his life story written by himself.

Sub questions

Question Number : 76 Question Id : 7532294325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The passage talks about:

Options :

1. ® Life and death

2. % Autobiography

3. * Biography

4. ¥ Memoirs

Question Number : 77 Question Id : 7532294326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the meaning of deceased?

Options :

1. #¥ Person writing a story

2. % Person about whom the story is written
3. % Person who has passed away

4. % Person who will be born

Question Number : 78 Question Id : 7532294327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Life story written by a person about his life is called:
Options :

1. % abiography

2. % an autobiography

3. ¥ Memoirs

4. % My story

Question Number : 79 Question Id : 7532294328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The passage tells us that memoirs are:
Options :

1. ¥ Subjective

2. # Objective

3. % Predictive

4, % Productive

Question Number : 80 Question Id : 7532294329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the word close to memory.
Options :

1. ¥ Recall



2. % Refresh
3. # Reconcile

4. % Represent

Question Id : 7532294324 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the question given below.

Memories are a part and parcel of life. People remember their near and dear ones after their death. Some people remember them by writing their
memories. This is known as memoirs. It is a narrative which is written from the perspective of the author. It is related to any important event or
incident of life of the person who is remembered. The primary purpose of writing memoirs is to keep alive certain memories of the deceased.
Memoirs have become famous as a genre in English literature in recent times. It has been derived from a French word ‘memoire’ and from the
Latin word ‘memoria’ meaning memory or reminiscence. It has evolved as a sub class of autobiography writing. Some of the common memoirs
in English literature are - The Liars’ Club by Mary Karr, The Year of Magical Thinking by Joan Didion and Speak, Memory by Vladimir
Nabokov and others. It is different from biography and autobiography. A memoir does not encompass all the life events of a person. They are
strictly related to an incident or an event. Another thing, a memoir is written after the death of an individual. A biography can be written by
anybody who is related to the person while anautobiography is his life story written by himself.

Sub questions

Question Number : 76 Question Id : 7532294325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The passage talks about:

Options :

1. # Life and death

2. % Autobiography

3. # Biography

4. ¥ Memoirs

Question Number : 77 Question Id : 7532294326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of deceased?
Options :



1. # Person writing a story
2. % Person about whom the story is written
3. % Person who has passed away

4. % Person who will be born

Question Number : 78 Question Id : 7532294327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Life story written by a person about his life is called:
Options :

1. # abiography

2. % an autobiography

3. # Memoirs

4. % My story

Question Number : 79 Question Id : 7532294328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The passage tells us that memoirs are:
Options :

1. ¥ Subjective

2. # Objective

3. #® Predictive

4. % Productive

Question Number : 80 Question Id : 7532294329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the word close to memory.
Options :

1. ¥ Recall

2. % Refresh

3. # Reconcile



4. % Represent
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Question Number : 81 Question Id : 7532294330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTINS fa=Iv0T Tree B



Options :
1. % Ugdl
2. % JAD
3. % gl
4. ¥ YISl

Question Number : 81 Question Id : 7532294330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORHTOTE e AT Teg -

Options :

1. % Ugdll

2. % gAD

3. % Ml

4. YIgl

Question Number : 82 Question Id : 7532294331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffad o 3 gfy &1 Jeu fPa I 32
Options :

1. ¢ fopar g

2. % G Y

3. % JIAH Y

4. % faRIyory

Question Number : 82 Question Id : 7532294331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 gfy o1 ddy fea T 82

Options :



1. ¢ a1
2. % I§Y
3. % ggaH I
4. % fqRyour g

Question Number : 83 Question Id : 7532294332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THa i 9Re & I & HH 1 H1d 82
Options :

1. * IH HddhTdd

2. ¢ 3Ul YT

3. ® Ffqwy ydebral

4. % ol Yygerd

Question Number : 83 Question Id : 7532294332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
™ &9 dRe & a6 | S 1 BT /2
Options :

1. % HIHY Hd bl

2. ¢ YU Yd&HTa

3. % iy Ydbld

4. % quf ydbTa

Question Number : 84 Question Id : 7532294333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'3TEd P faeH Lec I:

Options :

1. #® gHIEd



2. ¥ 3R
3. % 3faTed
4. % 3fIed

Question Number : 84 Question Id : 7532294333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
\3MTEd BT [IeiH WUsq BIT:

Options :

1. % HHEd

2. % JHAlEd

3. % 3{dled

4. % 37ged

Question Number : 85 Question Id : 7532294334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WY BT Vg 8] o

Options :

1. % 3prie

2. % Ul

3. % gfg

4. fagif

Question Number : 85 Question Id : 7532294334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % 3T

2. # . 40]



3. % gfg
4. ¢ ot

Question Number : 86 Question Id : 7532294335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 faIvor % ug uReg o &1 a1 Tgt A8t 82
Options :

1. % TUIdTdd

2. T

3. % FEATEH

4. % 3AUYdY

Question Number : 86 Question Id : 7532294335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fIRIY0T & U ufe B 19 1 ) A8l /2
Options :

1. * TUIdTddh

2. ¢ TlfeHT

3. % GEAGE!

4. % AJUYdY

Question Number : 87 Question Id : 7532294336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF o iwd Ses-aws &1 mafgarh § 2
Options :

1. % qRIgH

2. ® g5

3. % 3G




4. ¢ 3=ldd

Question Number : 87 Question Id : 7532294336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & § oF 1 fied Sas-Tes & yaiar § 2
Options :

1. % g&gH

2. 8 g5

3. % 3

4.« 3dldd

Question Number : 88 Question Id : 7532294337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafaRaa O 9 siafi g v &1 I gHu|

Options :

1. % 7 g & IRT 3R gAdT g |
2. % S W §¢ @I 7

3. % IS AR A

4. 1 W STl B

Question Number : 88 Question Id : 7532294337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad O 9 sigftl el uef &1 I IAu|

Options :

1. % gt gd & IRY 3R g B
2. % S Y@ TG I B

3. % H S HifeR STt 5 |

4.« 01 WA S B |




Question Number : 89 Question Id : 7532294338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forar & 5T UpR q T &) geraiie! onfifs giad gt |, SuHeri-&-ur &1 Tia 8idT 3, S &1 Hed o7
Options :

1. % dgrdgha

2. dpard gha

3. % g g

4. % fqad gfa

Question Number : 89 Question Id : 7532294338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foram & fore TepR q T &Y gersiient snfiifs gfera Bt B, SaHer-6Rur &7 Waw idT 8, 39 o1 Hgd o7
Options :

1. % Hagrd gi

2. ¢ dobard gha

3. % g g

4. % faggd gfa

Question Number : 90 Question Id : 7532294339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o i oH R s § 2
Options :

1. « ferdr

2. % g

3. % qdr

4. % 7Y



Question Number : 90 Question Id : 7532294339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Faffea i Y eH R st § 2
Options :

1. ¢ Qferan

2. % g

3. % qdr

4, % 7Y

Question Number : 91 Question Id : 7532294340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T URAT TR 7 37 &

Options :

1. ¢ ATl BRAT

2. % M H dd STeT

3. % PHARIYT Y S1d DA

4. ® OJllh 3Gl

Question Number : 91 Question Id : 7532294340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT URAT TETaR o1 31 §:
Options :

1. ¢ T HRAT

2. % B H qd ST

3. % DHARIY! Y FTd DAl
4. % TSP IS

Question Number : 92 Question Id : 7532294341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fw 7Tu aredt # T P 1 gt YT &1 |2
Options :

1. ¢ OF ot T |

2. % ST 3T B

3. % gg feram|

4. % HQAAEI

Question Number : 92 Question Id : 7532294341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 7T arelt T 9 I 1 U1 BT BT 82
Options :

1.« O fore T |

2. % TS A B

3. % gg foramm|

4. % TOAA G|

Question Number : 93 Question Id : 7532294342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“STei FI G151 AT b b1 BT 62
Options :

1. #® HddhTcd

2. ¢ A B

3. % Yid BT

4. ® Ul YdPb1a

Question Number : 93 Question Id : 7532294342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
“STei 91 G151 AT o BT BT 52
Options :

1. #® HddhTcd

2. ¢ A B

3. % Yid B

4. ® Ul YdPb1a

Question Number : 94 Question Id : 7532294343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafed & ¥ 39 91 Weg [ &1 v 181 82
Options :

1. % 38

2. % Ba

3. ¥ N9

4.V 3D

Question Number : 94 Question Id : 7532294343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofefed # 9 o 91 Wea fg &1 yaigar 781 82
Options :

1. %Y

2. % ¥g

3. % Y9

4. ¥ 3D

Question Number : 95 Question Id : 7532294344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tad fad-gw g
Options :

1. ¢ -3
2. % M-I
3. % 3ATp-Ydlh
4. % 3y Ry

Question Number : 95 Question Id : 7532294344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ted faag-g g1

Options :

1. ¢ 3-SR

2. % RfH-IAH

3. # 3{dlp-Hdip

4. % IAY-fARIAY

Sub-Section Number : 2

Sub-Section Id : 753229288
Question Shuffling Allowed : Yes

Question Id : 7532294345 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TR & eHYdD g 3R U 7T Usli o1 9et SR <

YR SRYR & I & 1Y T & TP 7T 1 T 3R 311, T8 A=A ol g Ugal ¥ Traferd el &; fohd 39 ¢ I &1 FaeIRUN A1 &
&1 99 &l & ST, Imfaary 3wl &1 § | ARG fgad! 3R Gl FasRur (1977) M@ Tid® & gRI 381+ FaeIFRUl &1 -Tg| Sieh
Tgdl TASRON D1 Hehed=T TKId B! |

D DI ATl To! fob URATT U3 T ot SeAaT JdTed! & AR & ol G, TaSFRU, TalEH, TS YUR 1S 3
TTec Yaferd & | fhg To7 Uy ot 98 8 Toh afe URA o1 SH9d! JdTsd] BT Wb i ARl RAHT T df Uggd! [dled] & qiepiad
TASTRUT &7 YUT?

AT JTeE! BT AAANROT HiFqahTel AboTRU ¥ fid 59 &1 | § o 98 Iuaard] GR &1 3U g, 39 S9! Ufagiie siddg




1t e & | 98 39 ApoRYT & 39fert ot fi & i 390 Rl iR fdaR® ¢ Riféd aerat & 8, forg ama & Wsdie &1 91 el T8
g | I8 a1 HSdIP Had HId! ! oaRg A df AR & aid & S AT 3R 7 Apoiia- & 1Y Ya-0a I+ J g 9% d gl 91| IH1erg
YiFIBTA ABSNRUT ] g1 U 39 AaFRYT &1 TR Ht T U411 SHHT YU 9gd & T8 TR deb g1 HHa oT|

Sub questions

Question Number : 96 Question Id : 7532294346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR TTRITRT 1 A SUged MY &
Options :

|. % Gikpided TIeNRI

2. ¢ &l FawmRur

3. % WIDHOITRUI

4. % YRdg gRYS T ARTGH

Question Number : 97 Question Id : 7532294347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Havl [ IRUI" 11H a%fﬁ Q’C[GHT-IT%
Options :

1. % YRdg RS DI

2. % TETARYNIG fgadl &l

3. ¢ WA ¥l B

4. % YidIBTCH Hiadl Bl

Question Number : 98 Question Id : 7532294348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YA BT 3R &:

Options :

1. ¢ TRiférd wegat

2. % Yod Bid



3. % A GURS
4. % I 3R Aemrat

Question Number : 99 Question Id : 7532294349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TASTRUT & a0 T D14 91 Ta! S T8l 87

Options :

1. % P YA IAa! Fdlsal 4 gs A

2. % D! YB3 DI HRUI IUHARETG UT|

3. % 3P Ydde -1¢ RIférd gegaii & 4|

4. ¢ TABHSNRU DI JAT T TSRO BT TR fa¥qd 4Tl

Question Number : 100 Question Id : 7532294350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BRI BT RFH e HHT ST 82
Options :

1. ¢ IAqal Trdrsal o

2. % 3f3Rga! Xdrsal H

3. % Uggd! Rdlsat #

4. % §dl Tarsa o

Question Id : 7532294345 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TRITRI 1 YD Ug 31R T T4 Uil 1 T8t SaR S |

YRdg sRYR & 32T & 1Y Bt # U U T &1 3RY §3HT, T§ AT o) 9gd Ugal ¥ Taferd Yt 5; fhd 39 U I &1 ol ROr A1 &1
o1 97 R o ST, Imfaar i &1 8 1 HeeRude fgact 3R Rt AauFRur (1977) e TA® & gRI 381+ HaolTRUN &1 el dicdh
Tgal TASINRUT B Heb o1 UKd i |

g B MARIDH I ol fob URAI U3 & 1 IHAAT FdTed] b FISTRU & T TSI, TISRRUL, T e, JATS YUR TS 3




RTeg; aiferd 8 | fhg o Uy ot 98 8 b afe URA 1 Iad! WdTsd] o1 Hikepldds AR RAHT o1 df Uggd! [dled] BT Gikpidd
TASTVIROT &7 YT?

I} TdTec! BT AaSFRUN HiadhTel- dieeRUl § i 39 91d # § fP 78 Iufavarc) SR &1 3us &, 39 S9! Ufaeiie siady
1t e 8 | 98 39 AipoiRYT I gafert +f fiF B fr 390 Rewdl ok faare ¢ Riféa aeer & 8, forg ama & Wadie &1 91 et 18
2| I8 91 YSdIe Yad HIad! ! dRg 7 dl MHIdid & ard F 3111 4T 3R 7 depoiia- & I1Y ga-fie g § g I 81 91| 9oy
YiFIBTA AR &1 g1 U 39 TaSFRUT &1 TR Ht FHEd U411 SHHT YU 9gd $& U TR deb a1 HiAd o |

Sub questions

Question Number : 96 Question Id : 7532294346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR T T Faifiie Iugad e @:
Options :

1. % Gipidd TSR]

2. ¢ &l FaemRur

3. % WIDHOITRUI

4. % YRdg gRYs 1 ANTGH

Question Number : 97 Question Id : 7532294347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HAuIVIRYI" AlH aﬁm Q'CTGHHT%
Options :

1. % YRdg g Bl

2. % HETARYNIG fgadl &l

3. ¢ WA THi DI

4. % YfRIDHTeAH DHiddl Dl

Question Number : 98 Question Id : 7532294348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEdAIP' T 3T 8-



Options :

1. ¢ fRiférd emar

2. % Yod Bid

3. ® JHIS JUYRD

4. % IAF 3R T

Question Number : 99 Question Id : 7532294349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FASTRUT & fawa H B IF A1 96l HUF 781 6

Options :

1. % 3P BT IATA! WdTec I gs A

2. % D! YB3 DI HRUI IUHARETG UT|

3. % 3&b Yadd ¢ Rifea aerat & 9|

4. ¥ AHSITRUN DI TAT T FISTRUN BT TR faxgd AT |

Question Number : 100 Question Id : 7532294350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ABANRUT BT 3R FHF HHT STl 572
Options :

1. ¢ JAgd] Tdrsct §

2. % 3GRgdl Ydlsal H

3. # Uggd! Tdled] |
4, % §1gdl Tdret #
Disciplinel
Group Number : 6
Group Id : 753229240

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 753229240

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229289

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532294351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a square matrix A is real, symmetric and positive definite, then the eigen values are:
Options :

1. ¥ are always real and positive

2. % are always real and negative

3. * are always real and symmetric

4. #% occur in complex conjugate pairs

Question Number : 101 Question Id : 7532294351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ma‘fWAW,Fl'ﬁlﬁlﬂ@quﬁﬁlﬁ%?ﬁww&mqﬂ(eigenvalues)wm?
Options :

1. ¢ ORI IRATAd R YIS g

2. % UM ARAASD 3R HUNHD Gl

3. % ORI aRdfAe 3R FHET g

4. % ifeq ggm il § grm

Question Number : 102 Question Id : 7532294352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Stokes theorem connects:

Options :

1. ¥ A line integral and a surface integral

2. ® A surface integral and a volume integral
3. # A line integral and a volume integral

4. ® Gradient of a function and its surface integral

Question Number : 102 Question Id : 7532294352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wi Ty & GAIIT PRAT 5|
Options :

1. ¢ W1 JHIGd 3R I8 THIGd

2. % UY JHIh 3R 3T JHIG

3. % 3G GHIGA R I FHIHS

4. % T P YU G-ﬁTsHObI Uy HHIh T

Question Number : 103 Question Id : 7532294353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A coin is tossed in 4 times what is probability of getting head exactly 3 times?
Options :

1. % 1/3

2. % 3/7

3. 1/4

4, % 3/5

Question Number : 103 Question Id : 7532294353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fHat Rads Y 4 IR ISTAT A B 1 3V 3 TR T (heads) 3 &Y U1 fHam g2
Options :

1. % 1/3

2. % 3/7

3.9 1/4

4. % 3/5

Question Number : 104 Question Id : 7532294354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Thickness of teeth is measured along:
Options :

1. # Absorb shocks and variations

2. ¥ Pitch circle

3. ® Provide cushioning effect

4. % Module

Question Number : 104 Question Id : 7532294354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I (teeth) P HieTs & 1Y AT ST g |

Options :



1. % UsHld QT 3R aRTRHA
2. % 3{~dX0dl dd (pitch circle)
3. % YRIMHD YHIT (cushioning effect) el

4. % Oiggd

Question Number : 105 Question Id : 7532294355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In offset sections, offsets or bends in the cutting plane are all:
Options :

1. # 45 degree

2. % 90 degree

3. % 180 degree

4, % 360 degree

Question Number : 105 Question Id : 7532294355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Y H, BT Wi | THAC U7 o el gl
Options :

1. % 45 f&ot

2.+ 90 f&Tit

3. % 180 f&uht

4. % 360 fSUI

Question Number : 106 Question Id : 7532294356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suggest the bearing most suitable for fluctuating loads:
Options :

1. % Bush bearing



2. # Single ball bearing
3. ¥ Needle roller bearing
4. ® Taper roller bearing

Question Number : 106 Question Id : 7532294356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qﬁaé‘fw%%rqwﬁ:{trqaaéuﬁﬂ (bearing) D IATR?
Options :

1. # g% TR (Bush bearing)

2. % RITTd §Tct 9TRT (Single ball bearing)

3. ¢ F18d AR SN (Needle roller bearing)

4, % TR IR 9N (Taper roller bearing)

Question Number : 107 Question Id : 7532294357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Toughness of material signifies

Options :

1. ¥ Strength

2. # Malleability

3. # Brittleness

4. ® Fatigue strength

Question Number : 107 Question Id : 7532294357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gerd BT HORI BT U a5l

Options :
1. ¢ T (strength)
2. % JMUTAGEHTIAT (malleability)



3. % YIRAT (brittleness)
4. % yifq g (fatigue strength)

Question Number : 108 Question Id : 7532294358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The percentage of reduction in area during tensile test on a cast iron specimen is:
Options :

1. #® 5%

2. % 10%

3. % 15%

4. ¥ Negligible

Question Number : 108 Question Id : 7532294358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SAd! AIg & T TR I GHEU1 & SR &0 H g5 B! BT Ha=Id I1d B |
Options :

1. % 5%

2. % 10%

3. % 15%

4, & 10

Question Number : 109 Question Id : 7532294359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Young's modulus of elasticity for a perfectly rigid body is:
Options :

1. # negative

2. ¥ Infinity

3. % one

4. # perfect



Question Number : 109 Question Id : 7532294359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quid: HoR fife & R dn go@ e gl
Options :

1. % BUMTHD

2. 3Hd

3. % Th

4, ® q:Uf(perfect)

Question Number : 110 Question Id : 7532294360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proof resilience represents the maximum strain energy that a material can absorb when stressed upto:
Options :

1. # Working Stress

2. % Ultimate Stress

3. % Proportional Limit

4. ® Yield Point

Question Number : 110 Question Id : 7532294360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U JARGDH & (Proof resilience), MAHTH fAH T St dI FofUd wxar g o &1s uard e JATdTd Bi- IR Sa=Nd B
Dl g

Options :

1. % TaTed ufded (working stress)

2. % IRY YA (ultimate stress)

3.¥ @ﬂﬂ'qm ESieal] (proportional limit)

4. % IRTHYq F@l*_gr (yield point)



Question Number : 111 Question Id : 7532294361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a foundry tool?
Options :

1. % Bulging

2. % Riddle

3. % Arbor

4. ¥ Embossing

Question Number : 111 Question Id : 7532294361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & ¥ SH-91 BTG € (foundry tool) T8 82
Options :

1. % AR (Bulging)

2. % Y& (Riddle)

3. ¢ 3TER (Arbor)

4, ® mm(Embossing)

Question Number : 112 Question Id : 7532294362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Metal patterns are used for:

Options :

1. # Small casting

2. # Chisels

3. % Brake paddle of an automobile

4. ¥ Large scale production of casting

Question Number : 112 Question Id : 7532294362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

%I'Iﬂaf_"f(Metal pattern)WB'CIﬁ"Ti%m@?ﬂ%I
Options :

1. % Y HIRET

2. % &

3. % IS P b Ued

4. ¢ 93 THM R ST & I

Question Number : 113 Question Id : 7532294363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sweep patterns are used for:

Options :

1. % Clamping

2. # Tiny objects

3. ¥ Soldering

4. ¥ Large circular casting

Question Number : 113 Question Id : 7532294363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g aﬁ (Sweep pattern) Il IR & 1%11! fﬂ?ﬂ % |
Options :

1. % AU

2. % BT aegan

3. % sk

4. Y g HIRET

Question Number : 114 Question Id : 7532294364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Indicate the most appropriate binder used in shell molding process:
Options :

1. # Bitumen

2. % Urea

3. % Ammonia

4. % Carbon

Question Number : 114 Question Id : 7532294364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e HIfeST Ufchar T IuANT fbT S aTed Fead SUGdd dlgeX (binder) Dl SHTd HY|
Options :

1 % fagea

2. ¢ gRAl

3. % S

4. % PHIaH

Question Number : 115 Question Id : 7532294365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is NOT a part of automobile transmission System?
Options :

1. % Clutch

2. % Gearbox

3. ¥ Axles

4. % Propellor Shaft

Question Number : 115 Question Id : 7532294365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad o @ ®F a1 iR d iR Rred &1 1T =8l 82




Options :

1. % ocfd

2. % fiREla
3. ¢ TR

4. % YIUeR QMR

Question Number : 116 Question Id : 7532294366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What carries the driving wheels of a Vehicle?
Options :

1. # Crank Shaft

2. # Crank & Slider

3. % Propellor Shaft

4. ¥ Axles

Question Number : 116 Question Id : 7532294366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foaft a8 & SIRfAT @A (driving wheel) B STH T DIF FHITAAT 82
Options :

1. % e TG

2. % $h AR WEER

3. % TUCR QMU

4. ¢ THd

Question Number : 117 Question Id : 7532294367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A two-piece propeller shaft requires a:
Options :



1. # struts
2. # levers
3. % thrust bearings

4. ¥ center support bearing

Question Number : 117 Question Id : 7532294367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

cUNMIR AR & g &I saadmar st g
Options :

1. # ¥ C (strut)

2. % @R (lever)

3. ® TUNG SN (thrust bearing)

4. ¢ g YR TR (centre support bearing)

Question Number : 118 Question Id : 7532294368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The control gear to epically gear unit is called:
Options :

1. % Mechanical gear

2. # Pneumatic

3. ¥ Sun gear

4. % Vacuum

Question Number : 118 Question Id : 7532294368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfUsbel MR b8 & fou Faau iR weiwmdi gl

Options :

1. % A% AR (mechanical gear)



2. % g R (pneumatic gear)
3. ¢ 99 iR (sun gear)
4. % é??{q R (vacuum gear)

Question Number : 119 Question Id : 7532294369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Communication helps officialsto  the employees.
Options :

1. ¥ Motivate

2. # Eliminate

3. % Intimate

4. # Apprise

Question Number : 119 Question Id : 7532294369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR SR Bl FHAA ! HAeg dxadl g
Options :

1. ¢ URA DA H

2. % I o

3. % gRIdHA Y

4. % 3T B U

Question Number : 120 Question Id : 7532294370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
____isalso called as “rule of thumb”.
Options :

1. # Eliminate

2. % Heuristics



3. % Apprise
4. ¥ Motivate

Question Number : 120 Question Id : 7532294370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<3y Fm v peT e |
Options :

1. % fRYA (Elimination)

2. @HW NY-YOTelt (Heuristics)
3. % 3{qId DRI (Apprising)

4. % YT (Motivation)

Discipline2

Group Number : 7

Group Id : 753229241

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 753229241

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229290
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532294371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The subject in the job application is written
Options :

1. # Before the salutation

2. # After the complimentary close

3. % Before the complimentary close

4. ¥ After the salutation

Question Number : 121 Question Id : 7532294371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TR (job application) T fawg forar S B
Options :

1. % 3T (salutation) I Ugd

2. % 3Id Uq (complimentary close) & §IG

3. % 3[dUqg (complimentary close) | QE@[

4. ¢ Hf¥areH (salutation) & dlg

Question Number : 122 Question Id : 7532294372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A ball and socket joint forms a:



Options :

1. # Rope drive
2. % Rolling pair
3. # Chain drive

4. ¥ Spherical pair

Question Number : 122 Question Id : 7532294372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hgd WCAPNIY (joint) ST G
Options :

1. % 39 S1%d (rope drive)

2. % fciT Y (rolling pair)

3. % T 8139 (chain drive)

4. & Wg}ﬂ (spherical pair)

Question Number : 123 Question Id : 7532294373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mid-point of the floating link of elliptical trammel traces a:
Options :

1. # Diametral pitch

2. % Circular pitch

3. ¥ Ellipse

4. % The module of the gear

Question Number : 123 Question Id : 7532294373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
USTHR SHA & Tl foies &1 He-fag &1 Tl AT & |

Options :



1. % ORI 3f<RTd (diametral pitch)
2. # gUIPR H~RTd (circular pitch)
3. ¢ Ha (ellipse)

4. % TR &1 dregd

Question Number : 124 Question Id : 7532294374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a kinematic chain, a quaternary joint is equitant to:
Options :

1. # Pitch point

2. # Base joint

3. # Binary circle

4. ¥ Three Binary joint

Question Number : 124 Question Id : 7532294374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Le&? IGE3 %j{qc'il (kinematic chain) ff, aﬂiﬁﬁ_ﬁ \‘:ﬁ‘s’ (quaternary joint) & RIER Bl % |
Options :

1. ® 3R ﬁlf—g' (pitch point)

2. % YRS (base joint)

3. % G B (binary circle)

4. ¢ A fgsmamy Gﬁg (three binary joint)

Question Number : 125 Question Id : 7532294375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum number of rings in a piston of four stroke cycle engines are:
Options :

1. # Two



2. % Three
3. * Four
4. % Six

Question Number : 125 Question Id : 7532294375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR I TTsfbd Soi1 & foeT & aw fan &) e fra gt 82
Options :

1. %3

2. dF

3. % IR

4. % Bg

Question Number : 126 Question Id : 7532294376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The self-starter of a car is:

Options :

1. # AC Motor

2. % DC Shunt Motor

3. % DC Series Motor

4. % DC 12Volt Dynamo

Question Number : 126 Question Id : 7532294376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B BT Aol WIEX (self starter ) BIAT B |
Options :
1. % T AR (AC motor)
2. % S1.3]. Ye AR (DC shunt motor)




3. ¢ 3L guft Alex (DC series motor)
4. % S 12 dlec S

Question Number : 127 Question Id : 7532294377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The clutch is located between the engine and:
Options :

1. ¥ Gear Box

2. # Differential Gear

3. % Rear axle

4. % Universal Joint

Question Number : 127 Question Id : 7532294377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oere, oM 3R & dg RA g gl
Options :

1. ¢ iR §ie

2. % favad R (differential gear)

3. % fUgar v

4, % W \_rﬁTS' (universal joint)

Question Number : 128 Question Id : 7532294378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is NOT a part of magneto-ignition system?
Options :

1. ¥ Battery

2. # Induction Coil

3. % Circuit Breaker



4. % Condenser

Question Number : 128 Question Id : 7532294378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iEe kR Earks) W—W e (magneto-ignition system) T HIT el %?
Options :

1. ¥ S

2. % TRUTHSd! (induction coil)

3. % URUY fateied

4. % U (condenser)

Question Number : 129 Question Id : 7532294379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cetane is a straight chain paraftin with formula:
Options :

2. % Cy4Hs30

3. % CpHyy

4. ¥ Cy6Hay

Question Number : 129 Question Id : 7532294379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HieA T B9 J@ell Wi 6, o @ B
Options :

1. % CyoHyg

2. % Cy4Hs30

3. % CpHyy



4. ¥ CygHzy

Question Number : 130 Question Id : 7532294380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ignition quality of a petrol engine fuel is expressed as:
Options :

1. # SAE Rating

2. % API Gravity

3. ¥ Octane Number

4, % Cetane Number

Question Number : 130 Question Id : 7532294380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U o1 & 34 o1 Uoaa UIaT &1 fhg YR ogad fhar SIrdT 82
Options :

1. % SAE (ST

2. % API UGS

3. ¢ 3figed T (octane number)

4. % fyeq dem (cetane number)

Question Number : 131 Question Id : 7532294381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indicate the metal with highest value of the thermal conductivity.
Options :

1. ¥ Silver

2. % Steel

3. ¥ Gold

4. ¥ Copper



Question Number : 131 Question Id : 7532294381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JAdH 3N AT dl |1 dTell YT &1 g HR |
Options :

1. ¢ =idl

2. % gWId

3. % AT

4. % qIaT

Question Number : 132 Question Id : 7532294382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the very good insulator.

Options :

1. # Water

2. # Wire rubber

3. % Glass wool

4. % Air

Question Number : 132 Question Id : 7532294382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad o I s 3gaier &1 ugd™ de |
Options :

1. # 9Icd

2. % IR}

3. ¢ 1 qdd

4. % drYg




Question Number : 133 Question Id : 7532294383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of Prandtl number of air is about:
Options :

1. % 0.3

2. % 0.5

3.90.7

4. % 04

Question Number : 133 Question Id : 7532294383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dTg % UTUSE YA (Prandtl number) T HTH TIHIT BT gl
Options :

1. % 0.3

2. %05

3. 0.7

4. % 04

Question Number : 134 Question Id : 7532294384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Automobile connecting rod are mass produced by:
Options :

1. # Cold heating

2. ¥ Forging

3. * Fine sand casting

4. * Die casting

Question Number : 134 Question Id : 7532294384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
GRT IR BTGt S BT g9 UHM IR SUGA BT 5 |
Options :
1. % IS BT
2. ¢ BITOHT
3. % 13 S IR
4. % BIg BIRT

Question Number : 135 Question Id : 7532294385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Piston compression rings are made of:
Options :

1. %* Tron

2. % Cast iron

3. ¥ Bronze

4. % Cast Steel

Question Number : 135 Question Id : 7532294385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freaddeafn A9t
Options :

1. % g

2. ¥ &oal A%

3. % B

4. % gqdl sWId

Question Number : 136 Question Id : 7532294386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is often called the fuel of future?
Options :

1. ¥ Hydrogen

2. # Methane

3. # Ethanol

4. % Diesel

Question Number : 136 Question Id : 7532294386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YIS HT e SRR [ g1 Il 82
Options :

1. ¥ gIgglo

2. % Higdq

3. % QYA

4. % gl

Question Number : 137 Question Id : 7532294387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The engine vacuum brakes are generally used on:
Options :

1. #* Busses

2. # Cars

3. % Tractors

4. ¥ Trains

Question Number : 137 Question Id : 7532294387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$ JRIH 9P HT ITNT FHI: gl

Options :



1. % §q

2. % BRI
3. % o
4. ¥ YqMTSal

Question Number : 138 Question Id : 7532294388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C programming language was primarily developed as:
Options :

1. ¥ GO TO 999

2. ¥ System programming language

3. % PRINT 999

4. # General purpose language

Question Number : 138 Question Id : 7532294388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C I YIS g7 U 4 w0 H fawfa gs i
Options :

1. ®* GO TO 999

2. ¢ REeH UfHT Hrw

3. ¥ PRINT 999

4. % HIATY UGS HIWT

Question Number : 139 Question Id : 7532294389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The binary coded decimal (BCD) uses:
Options :

1. % 16 Bits



2. * 8 Bits
3. % 4 Bits
4. % 12 Bits

Question Number : 139 Question Id : 7532294389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fg3memt HIfSd gevea (BCD) | garg|
Options :

1. % 16fdc

2. % gfae

3. ¢ 4f9e

4. % 12f9e

Question Number : 140 Question Id : 7532294390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C programming language was developed in the year
Options :

1. % 1950

2.9 1972

3. % 1988

4. % 1947

Question Number : 140 Question Id : 7532294390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C O TS 9y 7 famfa gs ot
Options :

1. % 1950

2.9 1972



3. % 1988
4. % 1947

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section Number :
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Mandatory or Optional :
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Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
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Question Shuffling Allowed :

Question Number : 141 Question Id : 7532294391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Discipline3

8
753229242

Discipline3

753229242
1

Online
Mandatory
20

20

20

Yes

1
753229291
Yes



Cisa language.
Options :

1. ¥ High level

2. % Middle level

3. % Low level

4. % Machine level

Question Number : 141 Question Id : 7532294391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
C,Th YT 5|

Options :

1. % I TR

2. ¢ A TR

3. % gy

4. % it TR

Question Number : 142 Question Id : 7532294392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The steering ratio of manual steering of car is approximately:
Options :

1. %5

2. % 8

3.¢ 12

4, % 22

Question Number : 142 Question Id : 7532294392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frft PR & BWT[%‘IT‘[ i (manual steering) I i STFUId e ITHIT m % |

Options :



1. %5
2.% 8
3. 12
4, % 22

Question Number : 143 Question Id : 7532294393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Master Cylinder in an automobile is associated with:
Options :

1. # Steering

2. ¥ Braking

3. % Lubrication

4. % Suspension

Question Number : 143 Question Id : 7532294393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iferaTge  Arex fRifeisx BRRCEAIGIE]
Options :

1. % i (steering)

2. ¢ ST

3. % Qg (lubrication)

4. % fqdeH (suspension)

Question Number : 144 Question Id : 7532294394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The function of oil control rings is:
Options :

1. # to lubricates the cylinder wall by releasing oil from its hole



2. % to keep the cylinder wall lubricated by holding oil in its channel

3. ¥ to prevent engine oil from going into the combustion chamber and returns excess lubricating oil off the cylinder wall through the return
holes in the piston to the oil pan

4. % to maintain a seal and prevent escape of burned gases and oil leakage

Question Number : 144 Question Id : 7532294394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sﬂﬁﬁﬁqwéaﬁmmﬁﬂ (oil control ring) W?ﬂf{%?

Options :

1. % Ryddex IR (cylinder wall) 1 IHd &% F dd HIfdd B FId=11 HAT
2. % RydeR fURI 3 3P o d | a1 IGHR D1 G

3. ¢ 39 & ad Bl g8 B A oM I A1 3R Ridiex fufy T sifafvad i ard dd ! e & 9 U9 & arusft ¢ & Aregy 3 g
BT

4. % T FY T[T 3R St g3 1 3R dd g I s

Question Number : 145 Question Id : 7532294395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the number of balance weight on a crankshaft of a typical inline four-cylinder engine?
Options :

1. % 4

2. %6

3.¥°8

4. % 12

Question Number : 145 Question Id : 7532294395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farelt fafry gas BR-RAftiex $oM & HoHuTe TR ol de &1 WReAT fara- gt
Options :

1. % 4




2.% 6
3.8
4. % 12

Question Number : 146 Question Id : 7532294396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An automobile engine is usually mounted at points.
Options :

1. %2

2.¥3

3.% 4

4. % 5

Question Number : 146 Question Id : 7532294396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SHicHIaIgd o+ JEga: figafl R M ST B
Options :

1. % 2

2.¥3

3.% 4

4. %5

Question Number : 147 Question Id : 7532294397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The coefficient of friction for the clutch facings is approximately
Options :

1. % 1.0

2. % 0.75

3.404



4. % 0.1

Question Number : 147 Question Id : 7532294397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TR 3 T ST Turies @t I g
Options :

1. % 1.0

2. % 0.75

3.904

4, % 0.1

Question Number : 148 Question Id : 7532294398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of automobile tyres are there?
Options :

1. ¥ Two

2. % Three

3. # Four

4. #* Nothing Specific

Question Number : 148 Question Id : 7532294398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A e’k fHda UBR & 8id 82
Options :

1.

2. % dH

3. % IR

4. % 3 AR & g



Question Number : 149 Question Id : 7532294399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Electric pressure is also called:

Options :

1. ¥ Voltage

2. # Reduce armature reaction

3. # Reduce iron weight

4, % Resistance

Question Number : 149 Question Id : 7532294399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faqgd e & ot FgT AT 5|
Options :

1. ¢ dlecol

2. % I 3R ufdfehan

3. % g oig 9o

4. % gioRIY

Question Number : 150 Question Id : 7532294400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In gases the flow of current is due to:
Options :

1. # Electrons only

2. % Positive ions only

3. ¥ Negative ions only

4. ¥ Electrons, positive & negative ions

Question Number : 150 Question Id : 7532294400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A9 §, YRT 1 UdTE & PRUBIAT R
Options :

1. % $Had gadg !

2. ® BHad YATHD !

3. % Had BUNHD I

4. ¢ TAGCH!, YIS 3R BUNEHD 3T

Question Number : 151 Question Id : 7532294401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The flow of current in solid is due to:
Options :

1. ¥ Electrons

2. % Atoms

3. % Neutrons

4. % Protons

Question Number : 151 Question Id : 7532294401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
319 H YRT &1 YaTg b HRUI BT 5|
Options :

1. ¢ A

2. % TRHTILST

3. % e

4. % Ml

Question Number : 152 Question Id : 7532294402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

An instrument detects electric current is known as
Options :

1. ¥ Galvanometer

2. % Voltmeter

3. # Thermometer

4. % Hygrometer

Question Number : 152 Question Id : 7532294402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faegd YRT &1 U 7 aTel T Y CESIGIE
Options :

1. ¢ Ted-Hex

2. % glecHIcy

3. % ymiiey

4. % GIEUMIY

Question Number : 153 Question Id : 7532294403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vanes of a centrifugal pump are in general:
Options :

1. % Not curved

2. % Curved backward

3. % Regular

4. % Horizontal

Question Number : 153 Question Id : 7532294403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3(UPbe] UT & 37 THI T7 g gl



Options :

1. % 3oy

2. ¢ U DI R IHI
3. % fqafig

4. % afa

Question Number : 154 Question Id : 7532294404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Program status word (PSW) contains various status of:
Options :

1. ¥ ALU

2. % AMU

3. % ANU

4. % ATU

Question Number : 154 Question Id : 7532294404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U $eq a8 (PSW) | ! fafta fRufeaT g1 €1
Options :

1.¥ ALU

2. % AMU

3. ¥ ANU

4. % ATU

Question Number : 155 Question Id : 7532294405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is NOT a command in DBASE I11?
Options :



1. # Create
2. # Save
3. % Sort
4. * Edit

Question Number : 155 Question Id : 7532294405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ¥ 9S-I, DBASE 111 H HIS T8I 82
Options :

1. # Create

2. % Save

3. ¥ Sort

4. % Edit

Question Number : 156 Question Id : 7532294406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Trajectory of a robot mean:

Options :

1. ¥ Path traced by end effector

2. % Kinematics of robot

3. % Robot joints

4. ¥ Robot programming

Question Number : 156 Question Id : 7532294406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A&Ie & Y& TY (trajectory) BT T 372 BT 82

Options :
1. ¢ 3 UHITAH (end effector) GRT Tl TRTIAT AT HRT



2. % dIc Bl FGIdb!
3. % 9 Hge
4. % &I YIATHT

Question Number : 157 Question Id : 7532294407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Lift of an aircraft when it is flying straight and level is:
Options :

1. ¥ Equal to the weight

2. % More than weight

3. # Less than weight

4. % Double the weight

Question Number : 157 Question Id : 7532294407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Pl 99 et 3R IHad IS 4R BT 8Ia1 8, O STPBT I (lif)
Options :

1. ¥ 39 & SRR g1 6|

2. % o 9 YD BT 5|

3. % GO I HH BTG

4. % GO & AT BT 8|

Question Number : 158 Question Id : 7532294408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most common high lift device?
Options :

1. ¥ Lever

2. % Rubber



3. % Engine
4. ¥ Flaps

Question Number : 158 Question Id : 7532294408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & Q HH-1 31 I 3= fete SUHRT (high lift device) 82
Options :

1. ® i’

2. ®# IR

3. % 3o

4. T

Question Number : 159 Question Id : 7532294409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which engine requires forward motion through air to produce thrust?
Options :

1. # Space engine

2. % Plane engine

3. # Ship engine

4. ¥ Ramjet engine

Question Number : 159 Question Id : 7532294409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JUNG ITF B & 1078 [ Soi9 I aTg o HTHH 377 T (forward motion ) 1 STARIEH T BT 82

Options :

1. % WY g9 (Space engine)
2. % Wi g9 (Plane engine)
3. % R Ioq (Ship engine)



4. ¥ AT SO (Ramjet engine)

Question Number : 160 Question Id : 7532294410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the effect of having excess camber?
Options :

1. # No effect

2. # Hard steering

3. % Loose steering

4. ¥ Uneven tyre wear

Question Number : 160 Question Id : 7532294410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I D1 YT §H TR T THIT TSl 82
Options :

1. ® B3 UG g1 gl

2. % IS WA

3. % o IR

4. ¥ YA CRR faR
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Group Id : 753229243
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Group Minimum Duration : 0
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Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 753229243

Section Number : 1

Section type : Online
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Number of Questions to be attempted : 20
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7532294411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The colour of the positive plate of lead-acid battery is:
Options :

1. % pink

2. % black

3. % yellow

4. ¥ brown

Question Number : 161 Question Id : 7532294411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S-TRYS S BT YD Wi BT BT gl

Options :



1. % T[crel
2. % HTdl
3. % didr

4.

Question Number : 162 Question Id : 7532294412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A fully charged 6-cell should indicate:
Options :

1. % 12.0v

2.¥ 12.6v

3.% 132v

4. % 14v

Question Number : 162 Question Id : 7532294412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quid: SMTafRId 6-9a o<t P ARG Y
Options :

1. % 12.0v

2.9 126v

3.% 132v

4, % 14v

Question Number : 163 Question Id : 7532294413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the purpose of engine air filter?
Options :

1. # Prevents rain water from entering the engine



2. ¥ Prevents dust and other foreign matter from entering the engine
3. % To control the engine's air intake volume

4. ® To reduces the engine's air intake noise

Question Number : 163 Question Id : 7532294413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO TR ftheex 1 T 32 =T BdT 82

Options :

1. % SRR P I &1 35 H o 4 Adhdl &

2. ¢ Y 3R 3 STel U1l &l S H Ta% A I bl 3
3. % 5T 1 aTg UG AT bl Fafd Brar @

4. % ISP I UGV IR &1 HH HRAT ¢

Question Number : 164 Question Id : 7532294414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The starting system of an automobile includes:
Options :

1. # A battery, a distributor, and an ignition switch
2. ¥ A battery, a starter, and an ignition switch

3. # A battery, a starter, and a distributor

4. ® A distributor, a starter, and an ignition switch

Question Number : 164 Question Id : 7532294414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gmw P TIfT yonet (starting system) | g %I
Options :

1. % g3}, faR® 3R UsaaH (&g

2. ¢ 93, WIeR 3R YoaaH (&g




3. % 9, Wik 3R fAdv®
4. % AP, Wi 3R Ysaa- a9

Question Number : 165 Question Id : 7532294415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cosmic rays, such as gamma rays are a source of:
Options :

1. # Soil pollution

2. ® Noise pollution

3. # Thermal pollution

4. ¥ Radiation pollution

Question Number : 165 Question Id : 7532294415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI BRI, SN o 7T favol, CAREIRE]
Options :

1. # Hal Uyl

2. % &g UGyl

3. % MU Ugyor

4. ¢ fafur ygwo

Question Number : 166 Question Id : 7532294416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DDT and aluminium cans are example of:
Options :

1. # Primary pollutant

2. # Secondary pollutant

3. # Biodegradable pollutant



4. ¥ Non-Biodegradable pollutant

Question Number : 166 Question Id : 7532294416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

.81 (DDT) 3R TegHifan & foss F 3B B
Options :

1. % UTYfHD Ugudh

2. % fgdig® Ugud

3. % g FEfieruig U

4. ¢ 35d BRI UguD

Question Number : 167 Question Id : 7532294417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TMU stands for time unit.
Options :

1. # Motion

2. ¥ Measurement

3. # Method

4, % Movement

Question Number : 167 Question Id : 7532294417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TMU (€1.TH.9,) BT 1T A1 <ZH e gl
Options :

1. % HRH
2. ¢ AoRAC
3. % AYS

4. % ggdc



Question Number : 168 Question Id
Orientation : Vertical

: 7532294418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

What is break- even point?
Options :

1. ¥ Total cost is more than to cost revenue

2. ¥ Total cost equal to cost revenue

3. # Total cost less than to cost revenue

4. ® Fixed cost equal to variable cost

Question Number : 168 Question Id
Orientation : Vertical

: 7532294418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

G- foig &1 & 3 grar g2

Options :

1. % P AT, AT JoRd ¥ 31 g |

2. ¥ G AN, ARTd oG & SRR B |
3. % Hd AN, ANTd Iod 9 HH B |

4. % fRR N7, YR AT &b SRISR B

Question Number : 169 Question Id
Orientation : Vertical

: 7532294419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
In case of new product method of pricing is most suitable.

Options :

1. #® Cost pulse
2. % Monopoly
3. #® Mark up
4. ¥ Penetration

Question Number : 169 Question Id

: 7532294419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U 3dre Bt R ge Ryfor ot fafr gord Suge gt 8|
Options :

1. % DRC UcH (cost pulse)

2. ® WA (monopoly)

3. % T 3 (mark up)

4. ¢ ﬂﬁ%ﬁﬂ (penetration)

Question Number : 170 Question Id : 7532294420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an organization, control system is NOT influence by:
Options :

1. # circumstances

2. % demand

3. % external environment

4. % market

Question Number : 170 Question Id : 7532294420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot e &, oy gomedt SERIEEE GG
Options :

1. # qﬁ_@ﬁ(circumstances)

2. % TN (demand)

3. ¢ S8 URaw

4. % dlviR

Question Number : 171 Question Id : 7532294421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Maslow’s need theory is based on
Options :

1. # Organizational needs

2. # Market needs

3. % Human needs

4. % Government needs

Question Number : 171 Question Id : 7532294421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORG! &1 TIRIH T BT RIGid IR ATYRA B
Options :

1. % GSATHD HaGDH AT

2. % Hldhe agam s

3. ¢ AT aLgharsfi

4. ® IRDHRI ATIIDH AT

Question Number : 172 Question Id : 7532294422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Subscription received in advance during the year is
Options :

1. % Asset

2. % Surplus

3. ¥ Liability

4. % Income

Question Number : 172 Question Id : 7532294422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ & R AfH =Y I Ui exad gt gl




Options :

1. #® tIﬁﬁ'clﬁf(asset)
2. % IRy (surplus)
3. ¢ &l (liability)
4. # 3 (income)

Question Number : 173 Question Id : 7532294423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Component use to control the output in an alternator
Options :

1. ¥ Voltage regulator

2. % Current circuit

3. # Voltage circuit

4. % All are required

Question Number : 173 Question Id : 7532294423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

, 3feexe} H 3f13cye &1 Ffd F-A & o SuanT fasan o arel 9ed ¢ |

Options :

| v G TR
2. % YRIURTY

3. % dleco URUY

4. % gt o §

Question Number : 174 Question Id : 7532294424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the material of an alternator frame?
Options :



1. # Cast iron
2. * Brass
3. % Copper

4. ¥ Aluminium

Question Number : 174 Question Id : 7532294424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3feeRAeR hH g uard &1 &1 §iell o2
Options :

1. % godi gl

2. % Uidd

3. % dia

4. ¢ TGHH=TY

Question Number : 175 Question Id : 7532294425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The charging voltage of an engine at start is:
Options :

1. # Not required

2. ¥ Higher

3. % Lower

4. % Zero

Question Number : 175 Question Id : 7532294425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W (start) B THT SO BT TN dleest

Options :

1. % IS el gl S



2. ¢ BT BT &

3. % FAGH AT
4. % FAGAT S

Question Number : 176 Question Id : 7532294426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first port of India under British rule?
Options :

1. ¥ Calcutta (Kolkata)

2. % Bombay (Mumbai)

3. # Ennore

4. % Delhi

Question Number : 176 Question Id : 7532294426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRed & 9 &9 91 fofew I & dgd HRd &1 Ugdl §80Tg 22

Options :

1. ¢ HAD (PIADBI)
2. % g (Y9

3. % TR

4. % facdl

Question Number : 177 Question Id : 7532294427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The longest national highway in India
Options :

1. ¥ NH6

2. % NH27



3. ¥ NH44
4, % NHI2

Question Number : 177 Question Id : 7532294427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR BT T TIaT AP ST gl
Options :

1. % NH6

2. % NH27

3. ¥ NH44

4. % NHI2

Question Number : 178 Question Id : 7532294428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Port of Kandla is located in which of the following States of India?
Options :

1. ¥ Gujarat

2. % Mabharastra

3. % Andhra Pradesh

4. % Kerala

Question Number : 178 Question Id : 7532294428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PHiga §eME YR & Fafarad 7 3 frg woa & fyd g2
Options :

1. " TSRId

2. ® HeRIY

3. % Y UG



4. % A

Question Number : 179 Question Id : 7532294429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Barge is a type of:

Options :

1. ¥ Ship

2. # Motor vehicle

3. % Aeroplane

4. # Train

Question Number : 179 Question Id : 7532294429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R (barge) U YR DI gl
Options :

1. ¢ SGTSI/STUId (ship)

2. % HieX drg

3. % §aTg W8Tl

4, % Y@TMS!

Question Number : 180 Question Id : 7532294430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inertia of the rotating parts on clutches should be:
Options :

1. #* infinity

2. % minimum

3. * unpredictable

4, % Maximum



Question Number : 180 Question Id : 7532294430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (clutches) TR YU dTe HRT &l e FElEIRY

Options :

1. ® 3Fd

2. Y-AdH

3. % 3R
4. % 3ffYbdn
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Question Number : 181 Question Id : 7532294431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Toe-wear in tyre caused by:

Options :

1. ¥ Over-inflation

2. % Under-inflation

3. % Excessive camber

4, % Excessive acceleration

Question Number : 181 Question Id : 7532294431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR H A-fAW (Toe-wear) & BRI GG
Options :

1. ¢ 3P gdl (over-inflation)

2. % dHgdl

3. ® 3{IfUPH IIeldl

4. % 3D @RI

Question Number : 182 Question Id : 7532294432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Another name of damper:

Options :

1. # Shrut rod

2. ¥ Stabilizer bar



3. #* Panrod
4. % Radius rod

Question Number : 182 Question Id : 7532294432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3[dHGH (damper) PT gURT ATH HT %‘?
Options :

1. % ¥c R0S (strut rod)

2. ¢ LfIAESR aR (stabiliser bar)

3. % T3S (pan rod)

4. % fSga s (radius rod)

Question Number : 183 Question Id : 7532294433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is called the ‘country of winds’.

Options :

1. ¥ Denmark

2. % Portugal

3. % TIreland

4. # Spain

Question Number : 183 Question Id : 7532294433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 GaAT3f PT <R BT Sl 5|

Options :

1. ¢ STHD

2. % g
3. % MRS



4. % W

Question Number : 184 Question Id : 7532294434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The temperature of a solar cooker can be increased with the help of a:
Options :

1. % Concave lens

2. % Convex lens

3. # Convex mirror

4. % Concave mirror

Question Number : 184 Question Id : 7532294434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR FHR BT ATTAA @1 Hag Y S/ o IHdl 5|
Options :

1. % 3{gdd og

2. % FAd A9

3. % I qUUl

4. ¢ fadd gUur

Question Number : 185 Question Id : 7532294435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does NOT produce CO? during electricity production?
Options :

1. # fuel

2. # ethane

3. % uranium

4. % carbon



Question Number : 185 Question Id : 7532294435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9§ oH 91 faggd IdTeA & QR CO2 I ol Hdl 82
Options :

1. % Y

2. % T

3. ¢ |

4. % Pl

Question Number : 186 Question Id : 7532294436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is similar to plastic injection moulding?
Options :

1. % SLS

2. ¥ FDM

3. % SLA

4. % LOM

Question Number : 186 Question Id : 7532294436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad & 9 SF 91 @ied ol HIfcET & IHET 57
Options :

1. % SLS

2. ¥ FDM

3. % SLA

4, % LOM




Question Number : 187 Question Id : 7532294437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a part of FMS?
Options :

1. % AGVs

2. % AS/RS

3. ¥ lathe

4. % CNC machine

Question Number : 187 Question Id : 7532294437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafifad 7 ¥ B9 91 U6 TH.T9. (FMS) &7 4T 6l 82
Options :

1. % AGVs

2. % AS/RS

3. Y

4. % CNC H=iH

Question Number : 188 Question Id : 7532294438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is required to hold hollow work piece?
Options :

1. % Gripper external

2. % Magnetic gripper

3. ¥ Internal gripper

4. % Notch gripper

Question Number : 188 Question Id : 7532294438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

WRIS gHYNT Dl s & e FafaRed & I fege! sravgssdr gkt 32

Options :

Question Number : 189 Question Id : 7532294439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the initial form of its material, Rapid Prototyping Technology are classified in how many types?
Options :

1. % 12

2.%9

3.%6

4.3

Question Number : 189 Question Id : 7532294439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U UIelezy & fohd SIeT-SienT dile HING & (AT o URMA® U & SR WR)?
Options :

1. % 12

2.%9

3.% 6

4.3

Question Number : 190 Question Id : 7532294440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In conventional refrigerant, which of the following element is responsible for ozone depletion?



Options :

1. ¥ Chlorine
2. % Florine
3. % Carbon
4. % Hydrogen

Question Number : 190 Question Id : 7532294440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URURS Yfpee H, Fofiied § 9 &9 91 d@ Siiei= 3/aa/ & ot IwRarl 52
Options :

1. ¢ FARH

2. % RIS

3. % PHlaA

4. % GBS

Question Number : 191 Question Id : 7532294441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Secondary Refrigerant is inversibility used in
Options :

1. % Water cooler

2. % Deep Freezer

3. ¥ Ice Plant

4. ® Window Air Conditioner

Question Number : 191 Question Id : 7532294441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o Aot XhoRe o1 IdcT TN Bidl 5|

Options :




1. % e HeR
2. % ST WBIOR
3. ¢ 33 Wic
4. % {ISI TR SR

Question Number : 192 Question Id : 7532294442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The brine is an aqueous solution of water.
Options :

1. ¥ Sodium chloride

2. # Chlorine carbonate

3. % Bicarbonate

4. % Hydrogen

Question Number : 192 Question Id : 7532294442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AqUISTd (S15) S 1 STelg faea 8|
Options :

1. ¢ QifSTH RRSS

2. % FARM BlaiAC

3. % SRPEIHC

4. % GIsgIoH

Question Number : 193 Question Id : 7532294443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vapour-compression refrigeration system operates on reversed:
Options :

1. ¥ Rankine cycle



2. % Joule cycle
3. % Atkinson cycle

4. # Ericsson cycle

Question Number : 193 Question Id : 7532294443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt uia gomeh fauda IR ITfed gt 8|
Options :

1. v e 9%

2. % 9 deh

3. ® Qefbad I

4. % TR Th

Question Number : 194 Question Id : 7532294444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The highest temperature at which oil ceases to flow when it is cooled is called
Options :

1. ¥ Pour point

2. % Triple point

3. % Bubble point

4. % Flash point

Question Number : 194 Question Id : 7532294444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 I=TdH dTgHT fo TR 9 & 381 811 R UdTg 8¢ 81 9Idl g, HEAd B |
Options :

1. ¢ dgld ﬁ—g{ (pour point)

2. % Adb ﬁg (triple point)




3. % gcgg fdg (bubble point)
4. % TP (flash point)

Question Number : 195 Question Id : 7532294445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of automobiles, what does SUV stand for?
Options :

1. ¢ Sport Unity Vehicle

2. # Super unity vehicle

3. # Shine Urban Vehicle

4. ® Short Urban Vehicle

Question Number : 195 Question Id : 7532294445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fferiagd & de # suv (T g dl. ) &1 qul =4 1 82
Options :

1. ¢ ¢ gfefardt i

2. % IR Y z1Pa)

3. % TS 36 Fiobd

4. % S e gIhd

Question Number : 196 Question Id : 7532294446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of car batteries are generally used in India?
Options :

1. # Dry battery

2. ¥ Lead acid battery

3. % Iron battery



4. % Cadmium Battery

Question Number : 196 Question Id : 7532294446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & AHRI: {5 UHR 31 HR Set B SuanT gidT 82
Options :

1. % [ g

2. ¢ T8 RIS It

3. % 3R g

4. % HSity o

Question Number : 197 Question Id : 7532294447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is constitute of direct expenses?
Options :

1. # Rent of factory building

2. ® Cost of advancement

3. % Salaries of office

4. ¥ Cost of jigs and fixtures made for a job

Question Number : 197 Question Id : 7532294447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & 4 oF 91 uge o1 (direct expense) BTG HAT 82
Options :

1. % HREM & HI BT fobra

2. % gfg arTd

3. % HIAY BT A

4. ¢ Siig & forg fAffa Rorg iR bR &1 arTd




Question Number : 198 Question Id : 7532294448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is independent of sale forecast?
Options :

1. ¥ Productivity

2. % Demand

3. # Supply

4. % Requirement

Question Number : 198 Question Id : 7532294448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ’Eﬁf@?‘f "7y ﬁ:f ] HRP faht Wﬂ (sales forecast) RSP Eﬁ?ﬂ %‘?
Options :

1. ¢ 3dlqhdl

2. % A

3. % 3gfd

4. % AHIYhdl

Question Number : 199 Question Id : 7532294449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shewhart control charts are used for:
Options :

1. # Work study

2. ¥ Quality control

3. % Production

4. ¥ Management

Question Number : 199 Question Id : 7532294449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

:ﬁaﬁ‘ IGREL] El'I_Cc (Shewhart control chart) T TN *® f%nz Eﬂ?ﬂ % |
Options :

1. % BT 3T (work study)

2. ¥ IUIGT AT (quality control)

3. # JdIa (production)

4. ® YJYT (management)

Question Number : 200 Question Id : 7532294450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The breakeven point is LEAST affected by change in:
Options :

1. #® Product mix

2. % Selling price

3. % Fixed cost

4. % Production of volume

Question Number : 200 Question Id : 7532294450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H uRadH gRT Aqe-R fdg 998 &H yHIfad gl g

Options :

1. ® Jare fagyor

2. % [dpd g

3. % f9gd anTd

4, ¢ HHEAT I Il



